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g A 60,344,513 53,975,000 6,369,513




[2014EF ] [20f4F]
SN ZRUAD
S BJFEZ OIOIKI 5 B2
CH2l: BJFEZ AIDIZEE 25} (el ®@ )
S Y. BR(3) - HBAY - BAS 0f &t 0 o HDS2
S22 A2 842,354 873,993 231,639
BJFEZ OIDIX =5 &8 675,828 681,525 N5,697
BJFEZ AIRIEE 23} 76,800 86,600 A9,800
HE g 63,000 72,600 A9,600
201 LBt Z| 63,000 72,600 A9,600
01 AtR2teldl 63,000 72,600 A9,600
(OF=)h-"g-\] 63,000 0 63,000
oIFE 4,500 *2,000*43] 36,000 0 36,000
cFFZE 4,500 *1,000=*43] 18,000 0 18,000
o= 4,500 & 500 *4 3] 9,000 0 9,000
BJFEZ E2 AR B2H 13,800 0 13,800
201 LBt Z| 4,600 0 4,600
01 AtR2teltl 1,600 0 1,600
QA=A AA 200,000& x4 H»2A 1,600 0 1,600
03 A2l 3,000 0 3,000
OZEAH M=, AMEE PAER=]] 3,000,000& 3,000 0 3,000
301 LBEAS 9,200 0 9,200
11 JIEH2 43 9,200 0 9,200
OA&= 9,200 0 9,200
oa 2,000,000 1 2,000 0 2,000
oz=4t 1,000,000 1 1,000 0 1,000
o244 700,000 x2H 1,400 0 1,400
oz 500,000 *3H 1,500 0 1,500
o Jb& 300,000& x5 1,500 0 1,500
ocgH 150,000 x 125 1,800 0 1,800
BJFEZ HEEE 23t 557,748 573,645 A15,897
NE S &1 557,748 573,645 A15,897
201 LBt Zy| 541,200 557,200 A 16,000
01 At22teldl 541,200 557,200 216,000
O=LHOHA &2 282,000 0 282,000
CQIMOIM &2 83,000 0 83,000
-S2X 5,000,000 *5JH X[ *23] 50,000 0 50,000
- XX 3,000, 000 & 51 X *23] 30,000 0 30,000
- ZAICH 1,500,000& x2& 3,000 0 3,000
oUSMAMED 70,000 0 70,000
-Tv&1 10,000,000 x6 & 60,000 0 60,000
-ctbieZ2n 5,000,000 x2& 10,000 0 10,000
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SN ZRUAD
S BJFEZ OIOIKI 5 B2
Hel: BJFEZ HE=EE 23t (&9l
S Y. BR(3) - HBAY - BAS 0f &t 0 o HDS2
oxzg&l 129,000 0 129,000
-HolBE A0IEZ D (ZUA) 7,000,000 123 84,000 0 84,000
-2olBE ol=Z D (=HA 7,000,000 «6& 42,000 0 42,000
- Z0AlH 3,000,000& x13l 3,000 0 3,000
Ol &1 259,200 0 259,200
S QIMOHAZ D 40,000 0 40,000
- = 4,000,000 34 X| 23] 24,000 0 24,000
- AMEXO2X 4,000,000& 43| 16,000 0 16,000
o EMME D 19,200 0 19,200
- Of2I TV 9,600,000 x2& 19,200 0 19,200
ociAB=EE 200,000, 000& 200,000 0 200,000
202 o4t 1,548 1,445 103
01 SLHOHI 1,548 1,445 103
O79s s22¢ 103,200 *3H x53] 1,548 0 548
203 AR FZY| 15,000 15,000 0
03 AIHFAHR =X 15,000 15,000 0
Ozl & J8ss g2Fd 300, 000& *503] 15,000 0 15,000
BJFEZ EE2& 29 41,280 21,280 20,000
BIFEZ 2 &= S& 28 L3 41,280 21,280 20,000
201 LBtEZ| 41,280 21,280 20,000
01 AFR2teld| 41,280 21,280 20,000
OJg8g ¥ s23L HME 16,800 0 16,800
SIIEE(FROIAL 20,0002 *3004 6,000 0 6,000
oIIEE (=) 5,000 *8007H 4,000 0 4,000
ollgE (gl 2,000 *1,000H4 2,000 0 2,000
oEEMX 3,000& 23] x800% 4,800 0 4,800
O=sEa23 J2+8| 4,000,000& 4,000 0 4,000
O=E2 HL2E UKD HE =& HZ
10,000,000 * 14 10,000 0 10,000
Og22 &8AlIE =& M 10,000,000 * 14 10,000 0 10,000
Os:2a 222 1=l 480 0 480
os5 140,000 =24 280 0 280
oot= 100,000 x4 200 0 200
SEUARINELE 81,904 97,002 A 15,098
EUHRIIEEES 81,904 97,002 A 15,098
SR EEs23t 81,904 97,002 A 15,098
201 LBt Z| 66,950 80, 150 A 18,200
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SH BEAAZ
M3 SNRAEE
oHelr ENsI=EEEs (9 M)
DA B B(BH) - HRAY - BAS of & 04 o HI DS
01 At22teldl 59,950 70,150 A 10,200
OFX=X g2 M= 36,000 0 36,000
oBZ2A50 ME 5,500& 2,000 11,000 0 11,000
=JIE3 H& 25,0002 =1, 0004 25,000 0 25,000
OsEsdy =& M& 16,000,000 » 14! 16,000 0 16,000
OAMIDILE ¥ A EIHHIE 50,000& 221 %203 2,000 0 2,000
OLs 22Xz Yz 50,000& *25%& 1,250 0 1,250
ORelgd ZZEH 24 4,700 0 4,700
otiEel 2 200, 0002 =104 2,000 0 2,000
ocIZHEY ¢ 25,000& *8IH 200 0 200
o ==& 2,500,000& * 14! 2,500 0 2,500
03 A2 7,000 10,000 A3,000
O3 EXNs:X &S 7,000 0 7,000
ool 2,000,000& =13 2,000 0 2,000
o=zl FAEES 5,000,000& *13] 5,000 0 5,000
202 04l 9,954 11,852 A 1,898
01 2ol 4,954 3,852 1,102
O=L2REN & ENRXII2 L& 103,200 x2YH *123] 2,477 0 2,477
OFEXNsI£da & Heal &t 103,200& x2H * 122l 2,477 0 2,477
03 =2/ H SR04l 5,000 8,000 A3,000
O=2 EXNsX &5 5,000 0 5,000
=2 5,000,000& *13] 5,000 0 5,000
203 PRl 5,000 5,000 0
03 AIFAHR=XIH| 5,000 5,000 0
OFENsis2ad J2F4 5,000,000 5,000 0 5,000
HE2H B 84,622 95,466 A10,844
Jle&dl 57,990 70,095 A12,105
Jl2ZHl 57,990 70,095 A12,105
201 LBt Z| 43,950 56,655 A12,705
01 At22teldl 43,950 56,655 A12,705
OEH+¢ 9,480 0 9,480
o0l EZelH 200,000 * 1 CH*644 1,200 0 1,200
ozetZelH 400,000 *2LH =448 %2 K 6,400 0 6,400
o= A 400,000 *1CH =404 1,600 0 1,600
o TA 140,000% =1 CH*2H 280 0 280
Oul=z2+= 4,000 0 4,000
o= 3,000,000& 3,000 0 3,000
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N SBZAL2
B wmeoA
el J=48yl (ch9l: ®MS )
S EB . O(3) - MRAY - BAS of & 04 Lo HIDS2
0l &t =
o XX 1,000, 000& 1,000 0 1,000
OFIItdE = 12,0002 x202* 122 2,880 0 2,880
OUXZAOYAIAE AIBE 14,270 0 14,270
o &FEH| 541,200 «6F 3,248 0 3,248
o otEH| 1,837,000 x6 & 11,022 0 11,022
OAt& oI} 5003 *20001 123 1,200 0 1,200
OAFEI BT 2 8,000& *300H 2,400 0 2,400
O=gtl 7,0003*8H 10+ 12& 6,720 0 6,720
ORM2gI12+&| 3,000,000& 3,000 0 3,000
202 O4Hl 13,440 13,440 0
01 =i HI 13,440 13,440 0
O 2L 20,0003 «8H 73|+ 12& 13,440 0 13,440
405 KHobE SHI 600 0 600
01 XL 2EFFHSH 600 0 600
O2MMEI 7 600,000 600 0 600
A2l 26,632 25,371 1,261
ol 2| 23,632 22,371 1,261
101 Q24| 23,632 22,371 1,261
03 RIHAZZ A2+ 23,632 22,371 1,261
Osga 22(1Y) 23,632 0 23,632
ollg= 1,149,8603 1+ 12& 13,799 0 13,799
cItESY 60,0003 128 720 0 720
ol Y=Y (1,149,860+310,000) & *120% 1,752 0 1,752
o I A E £ H| 60,000 1H 123 720 0 720
o H MG AY| 110,0002 x 1Y = 12& 1,320 0 1,320
cuwsS2 X 140,000 x 1Y =122 1,680 0 1,680
o HEF Ot (1,149,860+310,000) & *120% 1,752 0 1,752
o 21 S AtHI 50,000& *1H*12E 600 0 600
IR EIY  (1,149,860+360,000) & /226%8%17L 909 0 909
ocxdIRH 380,000& 380 0 380
FA2IHRFAHI 3,000 3,000 0
203 LR FZY| 3,000 3,000 0
04 PAN2IEHRFEH 3,000 3,000 0
oz 250,000& x12& 3,000 0 3,000
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el AIE D1E -5@1 A )
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S - BB G (B1) - NRAF = e HlmE2
J| 210l A2 809, 353 425,265 384,088
BJFEZ HIE HAl ¥ && 714,599 333,830 380,769
A DlEl - 2 Y 60,968 50,423 10,545
FTRIAPAHE 60,968 50,423 10,545
201 LBt Z| 8,800 18,400 A9,600
01 AtR2teldl 8,800 18,400 A9,600
OFH:e ¢ 11,500& *4005 4,600 0 4,600
O=gy 12,000 *100% 1,200 0 1,200
OSE AR LA 15,000 *200% 3,000 0 3,000
202 O4Hl 42,168 22,023 20,145
01 =i HI 2,168 2,023 145
OFAIH & 103,200& x3H »73] 2,168 0 2,168
04 = HI=2t0iHI 40,000 20,000 20,000
OEX&E A 20,000, 000& »22l 40,000 0 40,000
203 PR F=&H| 10,000 10,000 0
03 AIHFRIAR = 10,000 10,000 0
O=F2 AMMAY = 10,000, 000& 10,000 0 10,000
Helgsy 23t 12,168 12,023 145
s2o12ue MM 2t 12,168 12,023 145
202 o4t 2,168 2,023 145
01 =Wl 2,168 2,023 145
OS2It 103,200 x3H +73] 2,168 0 2,168
203 HRFZY| 10,000 10,000 0
03 AIHFAALR 10,000 10,000 0

OsaAI|2e 3 29 ¢ R

10,000, 000& 10,000 0 10,000
WHaU= ZE3sle 29 85,540 86,200 A 660
g3 29 17,900 18,560 A660
201 LBt Z| 7,900 8,560 A 660
01 At22teldl 7,900 8,560 A660
O=&3lo 3lo= QI 40,000 60 2,400 0 2,400
OZXgsle & 275,000& 2 Al 2tx103] 5,500 0 5,500
203 LR F&Y| 10,000 10,000 0
03 AMHFAHR 10,000 10,000 0
Oxgslo 249 10,000, 000& 10,000 0 10,000
TERAJ ESX 67,640 67,640 0
201 LBt Z| 17,240 17,240 0
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A IO
MM BJFEZ HI® HAl 2 &2 =X
S99l Aas E85l 29 (9 @)
o B . Che| (3 I e
SN - S(FAH) - MM - BES Off &K Of] AF oK HWsSZ
01 AR Il 17,240 17,240 0
Oxeslol 3o & 4+ 200, 000! * 13% +8 2 +80% 16,640 0 16,640
OZ&alol @ ZAT A 300, 0002 x2% 600 0 600
202 01t 10,000 10,000 0
04 =2R3H01Hl 10,000 10,000 0
OZealol A% HALEK AIZ +8 000,000 +2% 10,000 0 10,000
301 YA 40,400 40,400 0
06 £12+01 =2 2I04H| 35,000 35,000 0
OZ&35lo A2 HALMTX AR 5,000,000 +7%] 35,000 0 35,000
09 BAAHIRAS 5,400 5,400 0
OZ&slol A2 HAMFK AE 2 24 Jb|
5,400,0002 5,400 0 5,400
SR 39,388 49,288 £9,900
Asasust 27,520 37,565 A10,045
201 Y2l 21,240 31,285 A10,045
01 AR 2IHl 18,750 18,850 A100
OAB2E HHIE 18,750 0 18,750
oABAAT 1,650, 0002 *621 9,900 0 9,900
czANUB 1,650,000 521 8,250 0 8,250
oHFAS, AW 442 300, 00021 %221 600 0 600
02 ZZ2YH| 2,490 12,435 £9,945
04BN, 22 2,490 0 2,490
oAz 427 50021 «421 1,710 0 1,710
ozga 3,250 %2 *308| #421 780 0 780
303 EAS 1,000 1,000 0
01 Z&3 1,000 1,000 0
OsRgst| 500,000 500 0 500
OAS2#T E43 10,0002 #521 500 0 500
305 &3S 5,280 5,280 0
00 HHA2S 5,280 5,280 0
omAYWAD 1,760,000 x321 5,280 0 5,280
NrYR ¥ wgey ne 3,768 3,623 145
201 Y2l 1,600 1,600 0
01 AR EEIbI 1,600 1,600 0
OZNE ABY =2 WX 400,0002 *43] 1,600 0 1,600
202 01t 2,168 2,023 145
01 2UhoiHI 2,168 2,023 145
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OMENMHS S8 s YR8 103, 2002 *324+73] 2,168 0 2,168
e 8,100 8,100 0
201 YEr | 8, 100 8,100 0
01 At 22l 8., 100 8,100 0
ODNRWSA £ 200,000 22+ 122 4,800 0 4,800
OBsA HEE 1,650,000% x221 3,300 0 3,300
SEXO WE 28 505,396 125,063 330,333
SEXO oaEy 498,228 118,040 380, 1883
201 Yere | 78,500 28,500 50,000
01 At 2l 28,500 28,500 0
OOlAtM, AtEHE H Al ol 25,0002 * 1005 +32] 7,500 0 7,500
ONAES T oI 20,0002 50 1,000 0 1,000
OJBBS AR 20,000,000& 20,000 0 20,000
03 A2 | 50,000 0 50,000
OJBEBS BAS Y 50,000 0 50,000
oRASTIRA BAR | 30,000,0008! 30,000 0 30,000
SRUWEXRA BA2 Y| 20,000,0008! 20,000 0 20,000
202 01t 120,000 20,000 100,000
01 =UHoiHI 20,000 20,000 0
OJIZBE 2U0it 20,000,0002 20,000 0 20,000
03 =220t 100,000 0 100,000
OJZZS 2AL 204 100,000, 0002 100,000 0 100,000
203 YRETH| 10,000 10,000 0
03 Al EZ QR ETIH| 10,000 10,000 0
OJIBBS NMFTYLET| 10,000,002 10,000 0 10,000
301 Yer=Ea3 50,000 0 50,000
07 2ABIEHOIHI 50,000 0 50,000
OJIZ2E AEHO Y| 50,000,000 50,000 0 50,000
801 OilbIH 239,728 59,540 180, 188
00 Of1HI I 239,728 59,540 180, 188
ool 239,728,00024 239,728 0 239,728
OOl Al &2 7,168 7,023 145
202 01t 2,168 2,023 145
01 =UHoibl 2,168 2,023 145
OZY=H, 23 S Y2 103, 2002 *324+73] 2,168 0 2,168
203 YR ETL| 5,000 5,000 0
03 AlZEZ QR ETIH| 5,000 5,000 0




(20142 =] [=Z0l4tH]
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HE: BJFEZ HI® MAl & M2t =X
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SN - B . 2A(3H) - NIRAMY - BHESZ Off &+ OH Of] AF oK HWsSZ
OUMERE 28t 2R 0l 5,000,000& 5,000 0 5,000
SDEel Y RS 11,139 10,833 306
SEHUN L FRYP I} 1,400 1,400 0
303 ZA3 1,400 1,400 0
01 Eaz 1,400 1,400 0
OFQYUL ZTAN 2424 AlY 1,400 0 1,400
oxle4 500,000 122 A 500 0 500
LS 300,000 *35 A 900 0 900
TAAE B2l o SR S 9,739 9,433 306
201 Y2 5,000 5,000 0
01 AFRH2IH| 5,000 5,000 0
OSTHEIF X2 K 25,0002 x200% 5,000 0 5,000
202 14| 1,239 933 306
01 2Uoibl 1,239 933 306
OSTEIL 2et B2 Y280l 103, 2002 *38 *43] 1,239 0 1,239
203 YR EAY| 2,000 2,000 0
03 A ZTRALEAY| 2,000 2,000 0
O8I} S Y2=X 2,000,000 2,000 0 2,000
303 ZA3 1,500 1,500 0
01 Eaz 1,500 1,500 0
ORIRE 24 BLA AlY 1,000 0 1,000
x4 500,0002 %1% 500 0 500
o 3000002 %1% 300 0 300
oz 2000002 %1% 200 0 200
ORISR 2SHAEH N2 10,0002 *50% 500 0 500
2SR 94,754 91,435 3,319
ol 2yl 40,994 39,975 1,019
ol egy| 40,994 39,975 1,019
101 QI2AH| 24,194 23,175 1,019
03 RIHA22RB 4 24,194 23,175 1,019
oReE 2xa(1Y) 24,194 0 24,194
SSIEE! 1,214,5102 12122 14,575 0 14,575
oltELY 20,0002 2%+ 122 480 0 480
ollgag (1,214,510204310,0002 ) * 120% 1,830 0 1,830
SP[SEES 60,0002 %124%122 720 0 720
omMZAlY| 110,000 12 122 1,320 0 1,320
cREDZY| 140,0002!+12 %122 1,680 0 1,680
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OBHWLEER 6,600,000 6,600 0 6.600
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01 At el 31,920 29,620 2,300
OEH 2 =& 7Y 10,000 0 10,000
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ouensa 1,000,000 1,000 0 1,000
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O=& U0 20,0002 * 13 +75]* 122 21,840 0 21,840
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FREME Y BN 25
Hagle a2 MA 2= (oo =)
= - Q= - AT
M- - H2A(SH) - NREAY - BES Ol &F K Ol Ak 0t HlwsZ
O2ANEEEX 7Y 300,000¢4 300 0 300
O=A3aE 7Y 360,000& 360 0 360
02 B229H| 1,152 1,152 0
OJIE2 g28a)| sxzel 14,400,000 2! *8% 1,152 0 1,152
SEXQ BHMA 22 674,924 648, 181 26,743
Za Y XEHR S 18,263 18,232 31
201 ety 16,863 16,832 31
01 At 22l 15,555 15,555 0
OZMAA L HREDM S Iy 10,0002 x50 +65 3,000 0 3,000
OLI2tEE 018 48 10,0009 902 900 0 900
O=AL)| JHAMNCSE HREDIN =4 ’, 155,000 7,155 0 7,155
OZABAIRH ¢ 100,000 *3% x5 1,500 0 1,500
OAHSM oA =Y 100,000 x6H x5 3,000 0 3,000
02 Z32YH| 1,308 1,277 31
O3NS LERE MEEER 1,308 0 1,308
oAl 48,0002« 1 48 0 48
oJ|Et BIH B 30,0002 x42% 1,260 0 1,260
203 P RF=XIY| 1,400 1,400 0
03 A HFRAR=NY] 1,400 1,400 0
O3 A2 R 1,400,000 1,400 0 1,400
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201 LBt 450,982 431,514 19,468
01 AF222|H 189,418 177,161 12,257
OFAb 201 HHAIAY 29| 451,5002 « 122 5,418 0 5,418
OFA L2 14,962,000 x 122 179,544 0 179,544
ORAIMEIER Foa AX2 S 68,5302 %303 2,056 0 2,056
O AHZAN A2E 2H| 200,000 122 2,400 0 2,400
02 232YH 261,564 254,353 7,211
OFAb ZHelgl(2elyl, detetdl, ®I12 S)
19,776,000 12 237,312 0 237,312
OZAF 22[HI(JtA, Z2lHl S) 521,0002 <122 6,252 0 6,252
O AHZAL) AIEEHI RXIH| 1,500,0002 * 12 18,000 0 18,000
307 2I2t0I A 57,480 56,040 1,440
05 DIZIRIELS 57,480 56,040 1,440
OFA B4 29| 2,395,000 x2H * 12 57,480 0 57,480
22X A2 148,199 142,395 5,804
201 LEreHy| 148,199 142,395 5,804




SE

ARgHs L HENA 23

SEHC 3AHME 22 (S A )

S Y. BR(3) - HBAY - BAS 0f &t 0 e HDE2

0f & =
01 At22teldl 56,400 54,750 1,650
OgEA Xt 205,000 x250 » 1CH 51,250 0 51,250
O2ENE S8 & FIU2S 200,000 x12& 2,400 0 2,400
OXERANES 2 A2E 250,000 *11CH 2,750 0 2,750
02 3322l 91,799 87,645 4,154

Ot XHA 2,269 0 2,269
oUESEXH(MUIAIA) 568, 1403 = 1CH 569 0 569
olgs=x(OH) 471,800 = 1CH 472 0 472
o ZHSEI(MALIE 399,800& = 1CH 400 0 400
oIS HESEXH(AKEIX) 318,550% = 1CH 319 0 319
ocHESEIH(HA) 115,000& = 1CH 115 0 115
o AESEIH(AHEILIY) 65,000 *1CH 65 0 65
o ASESERH(AEIAMA) 65,0003 = 1CH 65 0 65
oAEHSEX(HEL) 177,660 = 1CH 178 0 178
o=t 28,5002 *3CH 86 0 86
Ostdeg3a 914 0 914
oSS EXH(AEHH) 89,3003 1CH 90 0 90
oIS HESEXH(AXLEIX) 87,630 *1CH 88 0 88
cUHESEIH(HA) 202,500 = 1CH 203 0 203
o AMSESERH(AEIAMA) 111,595& =1 CH 112 0 112
oAESEI(HEL 65,2003 *1CH 66 0 66
ostE Xt 118, 1202 «3CH 355 0 355
OXeEd= 6,310 0 6,310
oUESEXHMUIAIA) 580,000 = 1CH 580 0 580
ocUEsSER(OMK) 500,000 *1CH 500 0 500
oTHSESI(ALIE 400,000 = 1CH 400 0 400
oIS HSEXH(AXEIX) 530,000 *1CH 530 0 530
oSSR (HA) 1,400,000 = 1CH 1,400 0 1,400
o ASESE I (AHEIILIY) 650,000 *1CH 650 0 650
O ALY SE(AEIRA) 410,000& *1CH 410 0 410
oAESEI(HEL 450,000 = 1CH 450 0 450
oFSXHAEIHA) 540,000 = 1CH 540 0 540
oFISXH(AEIHA) 450,000 = 1CH 450 0 450
oo 2XHEH) 400,000 = 1CH 400 0 400
Oxt= =l 64,981 0 64,981
oUEsSEXHMUIAIA) 8,040,000 = 1CH 8,040 0 8,040
oclig&sEa () 1,800,000 *1CH 1,800 0 1,800
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M B2
M XXM o #HIYXF L5
el SSHQ A A 2te (o9 &)
o B . Chol(3 z el
SN - H2(SH) - MR2AY - HES Of &FOH O] Ak ol s
oZESESXH(ALIE) 2,360,000 +1CH 2,360 0 2,360
oIS HSEXH(AXEIX) 4,039,000& *1CH 4,039 0 4,039
oSSR (HA) 21,960,000 = 1CH 21,960 0 21,960
o ASESEIH (ML) 2,484,000 «1CH 2,484 0 2,484
o AHSEIH(AEIHA) 7,128,000& = 1CH 7,128 0 7,128
o AHSE I (AEIHA) 5,947,000& = 1CH 5,947 0 5,947
oSEXH(AEIAA) 3,870,000& «1CH 3,870 0 3,870
oSt SIH(AEAA) 3,870,000 «1CH 3,870 0 3,870
oSS RHIEH) 3,483,000 *1CH 3,483 0 3,483
OXteF=eldl & AIXtg] 1,575,000& *11CH 17,325 0 17,325
B34 0 & dHEMHA N Zst 305,179 269,942 35,237
Al - HEs IESMUJANEIA HB 84,050 19,650 64,400
201 LptEdd| 2,650 2,450 200
01 AtR2teldl 2,650 2,450 200
OHESASAM MEEZ A SZEH DEHI
1,100, 000& 24 2,200 0 2,200
OHESAUSAM MEEZA IS 7 450 0 450
o XA =(5=) 50,0003 *3H 150 0 150
oXNY=E(S=) 60,000 *3H 180 0 180
o Ot 5t 40,000 »3H 120 0 120
405 RHEHFE SHI 81,400 17,200 64,200
01 XL =2EFFHSHI 81,400 17,200 64,200
OgeE PC & 20IM Zely 7 81,400 0 81,400
cARE PC 1,500, 000 *50CH 75,000 0 75,000
odl0lM ZelH 800,000 «8CH 6,400 0 6,400
et IESAANE 2 22| 221,129 250,292 A29,163
201 Lt a| 219,729 248,892 A29,163
01 At22teldl 7,100 26,550 A 19,450
OelHY ot AE =HOIMHIA 0l8= 1,100,000& x 13l 1,100 0 1,100
A AZEQNH P 6,000 0 6,000
oPCE 30,0002 *170user 5,100 0 5,100
cUMHE 450,000& *2user 900 0 900
02 332l 212,629 222,342 A9,713
OLBtNS 2= 31,680 0 31,680
ollgzg 120,000& 23| &+ 12 2,880 0 2,880
oEstz 40,0003 x603| &+ 12& 28,800 0 28,800
OsUds 2= 100,000& *73| &+ 12 8,400 0 8,400
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SN ESD
y: XS L BIXY B3
Sl HEBSA IR U HINHIA NH 25 (ool ®@R)
o B . Che| (3 I e
SN R SR(E) - HRAY - BAS 0] &k o8 S HimE=ET
OB ABE 16,230 0 16,230
oL 0D HM2 80250021 +15] &+ 122 9,630 0 9,630
SEHOIX 2EY Ba2 550,00021+15] &+ 122 6.600 0 6,600
OTVES AIE2(HUICATY 9T, IHTV 20H)
82,0008+ 122 984 0 984
OSMS(2RESAIAE) 20R1%521+ 1502+ 122 180 0 180
OBMNY RB4 45,789 0 45,789
cHREA 22 320,450, 00021 +8% 25,636 0 25,636
SEHOIX 34,904,300 2! +8% 2,793 0 2,793
cRHY 30,492, 4002 +8% 2,440 0 2,440
S E SR 139,500, 0002 6% 1,160 0 11,160
= 18,500, 0002 *6% 1,480 0 1,480
ogste, IS 28,500, 0002 *8% 2,280 0 2,280
O828EI % WS RXL 2,720 0 2,720
cgtess)l 18,370, 0002 6% 1,470 0 1,470
oUPS 15,616, 0002 6% 1,250 0 1,250
OYRE PC(1720H) |2 209,216, 0002 +8% 16,738 0 16,738
OME « SEF2IANLY 2922 16,200 0 16,200
ST FR2IAI A 1,100,000 1Al %122 13,200 0 13,200
CTA Y SEUIE BaINAE 250,000 141 % 122 3,000 0 3,000
OMX2H L SHOIX S/W S22 15,516 0 15,516
SHI2M S 55,837, 00024 * 15% 8,376 0 8,376
SEHOIT S/W 47,600,002 15% 7,140 0 7,140
OBl YESAD Xz 490,000, 00024 *6% 29,400 0 29,400
OBFSA (P4, L) 2P 278,000, 00024 *6% 16,680 0 16,680
OSal - HaAE X2 5,000, 0002 x2&! 10,000 0 10,000
OPIP 2E= 2g2| 176,00021*141%12% 2,112 0 2,112
203 YLETHI 1,400 1,400 0
03 AlZZZI RS Al Y| 1,400 1,400 0
ONBSHUAYU YRFX 280,000% 53] 1,400 0 1,400
H™ 2| 457,841 459,096 A1,255
TR 356,361 363,316 £6,955
ol 2] 356,361 363,316 6,955
101 QI 2AH| 155,801 162,756 76,955
01 2% 4,937 5,828 £891
OFAJAHI(HE) 130,00021 %122 1,560 0 1,560
OS2 &I (B F) 7,550, 84021 +B6%+78%+20/30 3,377 0 3,377
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SN ESD
H: HY2YAY
©el: o2yl (9 @)
o B . Che| (3 I e
SN - S(FAH) - MM - BES Off &K Of] AF oK HWsSZ
02 JIEFE R4 90,611 98, 484 AT7,873
O¥F oIz 7,550,840%+ 122 90,611 0 90,611
03 RIAADE R4 60,253 58,444 1,809
OB gz4 29 23,742 0 23,742
oleag 1,188,200%4+ 122 14,259 0 14,259
ollzay (1,188,220+310,000) & * 120% 1,798 0 1,798
¥ eSS 40,0002 %12 480 0 480
SO XY 60,0002 122 720 0 720
oFAZ A 10,0002+ 122 1,320 0 1,320
cDEREY| 140,0002+ 122 1,680 0 1,680
Y E I (1,188,220+310,000) & * 120% 1,798 0 1,798
S THRIZ ALY 50,0002 %122 600 0 600
CURRTEINEY  (1,188,220+360,000) & /226+8+ 18 987 0 987
cpYaRLY 100,000 100 0 100
osE3(sZ22) 20,000, 00024 20,000 0 20,000
oRsE(ZZA) 16,511 0 16,511
S NEEEEE 7,552,000 7,552 0 7,552
Snt-HT 2,517,002 2,517 0 2,517
CMTHBER 1,175,0008 1,175 0 1,175
o=xALUEHE 4,943,000& 4,943 0 4,943
oL QABHEE 324,000& 324 0 324
203 LAY 132, 160 132,160 0
01 JI2SY YR ETH| 116,600 116,600 0
oL-F 116,600,002 116,600 0 116,600
02 HRAIIMYREZY| 1,360 11,360 0
OFATLRETY| (156 1,360 0 1,360
=100 74Xl (12 80,0002!) 80,0002 *100% 8,000 0 8,000
©101~300% (I 60,000% ) 60, 00021 *56% 3,360 0 3,360
04 ENSY YR EAY| 4,200 4,200 0
Oz 350,00021 %122 4,200 0 4,200
204 X @43AH| 68,400 68,400 0
NIEEEEEERTE 59,400 59,400 0
OFE(12) 750,00021# 1%« 122 9,000 0 9,000
O==%(33) 600, 00021 +2% « 122 14,400 0 14,400
O - 4F(423) 350, 00021624 *122 25,200 0 25,200
OB (53) 100,000 *92 122 10,800 0 10,800
02 HZBZH| 9,000 9,000 0




£20
HE2Z I
ol oyl el )
o B . Chol(3 z el
ST CR(SIH) - HIRAY - B2 Abod S 2
(OF=F<s 750,0003«1H+12& 9,000 0 9,000
a4 101,480 95,780 5,700
=4I 101,480 95,780 5,700
201 LBt Z | 66,200 60,500 5,700
01 AtR2teldl 66,200 60,500 5,700
O&H 2¢ 6,960 0 6,960
<odl0lM Zeld 200, 0002 =4 CH*5H 4,000 0 4,000
ozt Zely 400,000 *1CH*20H4 800 0 800
o= A 400,000 * 1 CH+4 04 1,600 0 1,600
oA 140,000 x2CH*2H 560 0 560
OZLsXZ, M S 7 5,400,000 5,400 0 5,400
ORAMA2gI 234 4,000,000 4,000 0 4,000
OHEA 2IIGHI(MNRES S) 5,000,000& 5,000 0 5,000
oY - =244 26,500 0 26,500
oy 30,0003 *2¥ x250 15,000 0 15,000
cE - Y- 37Y 50,0003 2 115 11,500 0 11,500
O=gt| 7,000 *21H 10123 17,640 0 17,640
Otl27=s= 700,000& 700 0 700
202 o4t 35,280 35,280 0
01 SLHO bl 35,280 35,280 0
OFZ ZHHobI 20,000 x21H+73|x12& 35,280 0 35,280
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SM: EXNBFD
HE: DAAS DIAAHIA
o9l XESls MTAY X (&9 @)
o B . Che| (3 I e
SN - S(FAH) - MM - BES Off &K O] Ak ol HWsSZ
OZ2HSE ST (A1) 37,4002 %2074 748 0 748
OZ=HS SX(A0) 44,0002 +571 220 0 220
202 Ol 2,064 1,926 138
01 2ol 2,064 1,926 138
ONHZY 1N S &4 103, 2002 x4 +53] 2,064 0 2,064
203 R =X 3,500 3,500 0
03 ABERAREZIY| 3,500 3,500 0
ONFZZp2 ABEZ 350,00021% 103 3,500 0 3,500
EXHAH 22 6.377 7,265 888
201 Yur2 | 1,225 1,225 0
01 AtR22lt] 1,225 1,225 0
OEXHHA A B2 oY= 35021 %2, 00004 700 0 700
OEXIHHAH Gt ABAEHTAL QLY RIR
35024 1,50021 525 0 525
202 01t 1,652 1,540 12
01 2ol 1,652 1,540 12
OEXIHelsiot 23 2 8ol 103,200 x4 *43] 1,652 0 1,652
203 R =X 3,500 3,500 0
03 ABERAREZIY| 3,500 3,500 0
OEX N 2l Al#E 350,000 %103 3,500 0 3,500
#Z2 A 129,611 126, 151 3,460
oz 2ol 53,212 51,252 1,960
ol 2yl 53,212 51,252 1,960
101 o1214| 49,012 47,052 1,960
01 24 1,080 1,080 0
OplEYR 4g 30,0002 +3% 122 1,080 0 1,080
03 RIHA2ZR24 47,932 45,972 1,960
ONHEY 422X 24,192 0 24,192
oJ1=23 1,214,510 %1« 122 14,574 0 14,574
SPJEN 20,0002 +28 x 122 480 0 480
ollgag (1,214,51021+310,0002! )+ 120% 1,829 0 1,829
oA Y| 60,0002 %128 720 0 720
oFAZA| 10,0002« 122 1,320 0 1,320
cnEBEY| 140,000%! « 122 1,680 0 1,680
o EEIH| (1,214,51021+310,0002! )+ 120% 1,830 0 1,830
STHRIZ A 50,0002 +122 600 0 600




[2014= =] [=0let]
SN EXNBEDY
u: B2
©el: o2yl
_ _ _ MEC
SN - S(FAH) - MM - BES Off &K 0],30_'“
(1,214,510214360,0002! ) /226+8A] 2t+ 192 1,059 0
cgpyaesy 100,000%! 100 0
SLEEE-ELES 23,740 0
o123 1,188,220 ¥ 12§+122 14,258 0
oEag 20,0002 +2% + 122 480 0
ollzay (1,183,2202+310, 0002 )+ 120% 1,798 0
S¥[F EES] 60,0002 * 128 720 0
oFAZAY| 10,0002+ 122 1,320 0
cDEBXY| 140,0002+ 122 1,680 0
Y E I (1,188,2202+310, 00021 )+ 120% 1,798 0
o THRIZ ALY 50,0008+ 128 600 0
SUNRIEINTY
(1,188,220%14360, 000! ) /226+8A] 2t+ 182 986 0
SEHEL S 100,000%! 100 0
203 R 4,200 4,200
04 ENSYARETY| 4,200 4,200
OEXSHDt 350, 0002 * 122 4,200 0
= 76,399 74,899
= 76,399 74,899
201 Y2l 49,519 48,019
01 At 22| 31,600 30,600
O QBN S A 4,0002 1002 * 105 4,000 0
OBIHYZE RN 3002 %2, 00004 600 0
L VIE-L-BIERN- T 4,000,0002! 4,000 0
ozl 7,002+ 162%102 122 13,440 0
OEUH7¢ 8,560 0
o0l K ZRIE 200, 0002 4 CH <374 2,400 0
o2ieTRIE 400,000 #4427} + 1 T4 3,200 0
o= A 4000002 * 1 CH+6 74 2,400 0
omA 140, 0002 *2C4 =24 560 0
ouesRsz 1,000,0002! 1,000 0
02 B2 17,919 7,419
Ol B8 8¢ 2W23 14,450 0
cYUBrH 22021+5,0008 1,100 0
oSJI2H 1,750 +5,0005 8,750 0
o2 2w 23,0002 +200 4,600 0
OVRS-GPS S48 RMOIHY SAR3  5,0008+12H8 300 0
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2M: EXHF
B wmeoA
el J=48yl (ch9l: ®MS )
S Y. BR(3) - HBAY - BAS 0f &t 0 o HDS2
ALPHHAEE = 1,500 0 1,500
S EXIHH AL IO S A 250,000& x2Y 500 0 500
cEX0ISHE =N St 250,000 x1Y4 250 0 250
SPNESE=S=F~n] - PN I=2=ON; 250,000& x3Y 750 0 750
OAEEHI S 1,669 0 1,669
cXNEAMLD e2es)l 7Al2a
7,600,000 *8%*1. 1(£ItILXI Al ) 669 0 669
oXNXESHH(21]) RAZc
11,363,6362 8%+ 1. 1( 2 It I X Al) 1,000 0 1,000
202 o4t 26,880 26,880 0
01 =i HI 26,880 26,880 0
O&R 2L YI 20,0002 x16H +73|x 12 26,880 0 26,880
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(2014 =] [20]4H]
SN AZD
HE: Ol2ED EAQYEs TAAZEI =4
Sel: OIEUS ASJAAY L HTE FAHEZ =4 (&9 &)
o ol (5 o HEe
SN - H2(SH) - MR2AY - HES Off Ak OH Ol Ak o | =S
03 AlMZZ2EHY| 2,000 2,000 0
OFemym 2t g2z 2,000,000 2,000 0 2,000
N2 A A Y| 70,292 67,119 3,173
ol 2oy 28,042 27,069 973
ol 2oy 28,042 27,069 973
101 Q1244 25,042 24,069 973
03 RIHA2Z LS 25,042 24,069 973
OSHAZS 2AF(1Y) 24,942 0 24,942
oll=z 1,254,910 122 15,059 0 15,059
otELY (40,000+20,000) 2+ 19+ 122 720 0 720
ol|Laet (1,254,910+310,000) & * 120% 1,878 0 1,878
o JHHI B Z | 60,0008 122 720 0 720
o HUZ AL 110,0002 * 122 1,320 0 1,320
cnEBXH| 140,0002 * 122 1,680 0 1,680
o YHEIHH| (1,254,910+310,000) 2 * 120% 1,878 0 1,878
o THEIZ AtHI 50,0002 * 122 600 0 600
COXRIENSY  (1,254,910+360,000) 2 /226+8* 192 1,087 0 1,087
OgY224+y 100,0002! 100 0 100
203 PR FEAY| 3,000 3,000 0
04 BN2EAREZY| 3,000 3,000 0
OAZD 250,0008! * 128 3,000 0 3,000
Jl=Zl 42,250 40,050 2,200
At A 42,250 40,050 2,200
201 YLer2y| 22,270 21,570 700
01 AtR el 22,270 21,570 700
OEHTY 7,080 0 7,080
S0l M ZalF 200, 00024 *4CH*3H 2,400 0 2,400
o2URtIRIF 400,00021*1CH*4 24 %24 3,200 0 3,200
o= A 300, 000! *1CH*4H 1,200 0 1,200
omA 140,0002 * 1 CH*2JH 280 0 280
OO ItAI Al Q14 25,0002 *52 105 1,250 0 1,250
ozl 7,000+ 11 +10L * 122 9,240 0 9,240
ORN2AII24+8H| 4,000,0002! 4,000 0 4,000
ousensg 700,0002 700 0 700
202 04| 18,480 18,480 0
01 240t 18,480 18,480 0
O=& 0| 20,0002 * 112 +75] + 122 18,480 0 18,480
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01 At22teldl 5,000 5,000 0
OFXsX 222 M 5,000 0 5,000
oHHANY EXNRX EES(2,9,22) ME
5,000,000& 5,000 0 5,000
202 Ofdl 826 771 55
01 =AY 826 771 55
O=UHEXNRX Itz - 88 =& 103,200 x2H *4 3] 826 0 826
AN EX=X 33,554 42,223 A8,669
FRHY ENRXNES 26,954 35,623 A8,669
201 LBt Z| 5,000 10,000 A5,000
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[2014H 5] [20]4tH]
M KA
M 230 EXNRIA
S E@XNY EXNSX (S A )
= = — NE
SA - HB - SA(BH) - MEAY - BYS 0o &+ v HIRE2
03 A2 ZHI 5,000 10,000 A5,000
OZXHY I HEN=IES 2,000,000& *13l 2,000 0 2,000
OgXe HAENRXES 3,000 0 3,000
= 0l=X4% 2,000,000& x13l 2,000 0 2,000
< OFAIOFX & 1,000, 000& * 13l 1,000 0 1,000
202 o4t 17,954 21,623 A3,669
01 =B 4,954 4,623 331
O=UEXNLT 4E ¥ RIS 103,200 x2YH *123] 2,477 0 2,477
OFLREN 2 SR )2 Y2
103, 2003 x2H *53] 1,032 0 1,032
OFEXNsI&ds & HEs FA 103,200& x2H x53] 1,032 0 1,032
OFX=Xiz FESE 103,200 x2H *23] 413 0 413
03 =2/H R0l 13,000 17,000 A4,000
OgIY HAENRXES 13,000 0 13,000
=0I=FX4S 9,000,000& *13] 9,000 0 9,000
< OtAIOHXI S 4,000,000& 13l 4,000 0 4,000
203 PRl 4,000 4,000 0
03 AIFAIHR =X 4,000 4,000 0
OGX #HAAE LRFX 4,000,0002 4,000 0 4,000
GIHe EXNRI 222 M L XES 6,600 6,600 0
201 LBr22d| 6,600 6,600 0
01 AtS2teltl 6,600 6,600 0
OgXNe EXgX 222(2,2,82) MF
5,000,0002 * 14 5,000 0 5,000
OYXl ADIEAIEl T/F 3l2 =Y 100,000 x2ZE x83] 1,600 0 1,600
A AMBIALSE ENKRX 30,329 37,053 NG, 724
AN LAY ENRIES 25,329 32,053 NG, 724
201 LptEd| 5,000 8,000 3,000
03 A2 ZHI 5,000 8,000 A3,000
OFXNAMBIALY IUHETSIES 2,000,000& %13l 2,000 0 2,000
OZFX MU ALY HAENRXES 3,000 0 3,000
SRS A=A 3,000,000& *13l 3,000 0 3,000
202 O4dl 17,129 21,853 A4, T724
01 =W bI 4,129 3,853 276
O=2UEXNTT g&E ¥ RIS 103,200& x2H *83] 1,652 0 1,652
OFLEN 2 SR 2I|2 Y2
103,200& x2H x53] 1,032 0 1,032
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] [204t]
FX1a
/=0 EXNRX
BRI ALY EXFXI (el &)
S EB . O(3) - MRAY - BAS of & 04 o HI DS
OFEXNSINLEs & 2ty A 103,200 x2YH *53] 1,082 0 1,032
OF2Iits E2+E 103,200 x2H *23] 413 0 413
03 =22F R0l 13,000 18,000 /5,000
OZFXMEIAAMY HAFURXES 13,000 0 13,000
ocRgX4d 9,000,000& x13l 9,000 0 9,000
<= OtAIOFXI S 4,000,000& *13] 4,000 0 4,000
203 HRF&H| 3,200 2,200 1,000
03 AMEFAHR =X 3,200 2,200 1,000
OWs -2z - d2)|& |I HRFA 3,200,000& 3,200 0 3,200
NAHIAMY SEXmX 222 HE & XJES 5,000 5,000 0
201 LBt Z| 5,000 5,000 0
01 AtR2teldl 5,000 5,000 0
OFXt=x 222 M= 5,000 0 5,000
oHIIMHIAMY EXRX EE2(F,Z22 S) MF
5,000,000% *14] 5,000 0 5,000
eslall 43,800 44,120 A 320
24l 40,800 41,120 A 320
22Z4l 40,800 41,120 A 320
201 LBt Z| 21,720 20,960 760
01 AtR2t2ldl 21,720 20,960 760
OEH>¢ 7,480 0 7,480
=g olM=eH 200, 000 *3CH*4H 2,400 0 2,400
oZet=ZelH 400,000 * 1 CH x4 A5 x2JH 3,200 0 3,200
o= A 400,000 *1CH =40 1,600 0 1,600
oTA 140,000 =1 CH*2IH 280 0 280
ORAM2II|2+3H| 4,000,000& 4,000 0 4,000
O=gtl 7,0003*11H 10+ 122 9,240 0 9,240
OU2+== 1,000, 000& 1,000 0 1,000
202 o4t 18,480 20,160 21,680
01 =W 18,480 20,160 A 1,680
OXA ZHHOYI 20,0003 x11H 73|« 12& 18,480 0 18,480
405 THEEF SHI 600 0 600
01 ML ESFHSHI 600 0 600
Od&En 7 600,000 *1CH 600 0 600
ol 2| 3,000 3,000 0
ol 2| 3,000 3,000 0
203 LR F&H| 3,000 3,000 0
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s
=~
i
|
Jii
2
rx

2N Sx2A
HH: QRUSK R
ol BTAM2OF SNSRI (oop: mal )
o o|(3 I e
SN - B . 2A(3H) - NIRAMY - BHESZ Off &+ OH Ol Ak 0t s
124 2,498,943 1,761,354 737,589
ARER RX 2,456,843 1,719,754 787,089
BBYH20F SN 30,474 41,602 A11,128
BRYUMSO EXOF 22 L SAUBE 24,648 35,831 A11,183
201 YEr2 | 5,500 8,000 A2,500
03 A2 5,500 8,000 A2,500
L BESEIETS 2,500 0 2,500
SESE 2,500,0002 %13l 2,500 0 2,500
ORUEX SUES 3,000 0 3,000
S2014 MICEA R & 2,000,0002*13] 2,000 0 2,000
o2014 BLEREY S 1,000,000 13l 1,000 0 1,000
202 01t 13,748 22,431 78,683
01 2L oibl 4,748 4,431 317
ORUHEXT 2 L RAES 03,2008+ +*12103] 2,064 0 2,064
OSNRINE L FLHH 103, 2002 *22 *1 2 #43] 826 0 826
OSTRAEYS U S5 B4 3200822223 826 0 826
OZYRH U SNSRI )l ¥
103, 20021 *2% *1 2 #53] 1,082 0 1,082
03 =o/H 204t 9,000 18,000 £9,000
OMAS ST &S 9,000 0 9,000
e 9,000,000 13| 9,000 0 9,000
203 YR EFY| 5,400 5,400 0
03 AIBETALEAY| 5,400 5,400 0
OBBUMAIL ENRXZH 2EX 5,400,0002 5,400 0 5,400
BRYH2OF ANRIE P18 SR AN 5,826 5,771 55
201 Bt | 5,000 5,000 0
01 AFRZH2IH| 5,000 5,000 0
OSENRIELS M 5,000 0 5,000
oSRA0 HME 5,000%+1,000% 5,000 0 5,000
202 01| 826 771 55
01 2Uoibl 826 771 55
OSNRANE U B 43 103, 20021 *2% *1 2 %43] 826 0 826
HOAA2O0F SRR A 47,695 42,135 5,560
HOMQE0F SN B2 Y SAES 42,075 36,557 5,518
201 Y2 8,500 8,000 500
03 A2 | 8,500 8,000 500
OMASX X &S 5,500 0 5,500




SN RI2A
5 QRS R
Sol: HHNYROF XS (e &)

- 5 ol (5 T dET -

SN - B . 2A(3H) - NIRAMY - BHESZ Off &+ OH O] Ak ol HWsSZ
oRENY 3,500,0002 3,500 0 3,500
cY=xY 2,000,0002 2,000 0 2,000
O3 2retsl &0t 3,000,000%! 13| 3,000 0 3,000

202 o1l 24,375 19,357 5,018

01 2UH0iH] 7,225 6,357 868
ORUSERA 22 L RASS 03,2008 %2212 *203] 4,128 0 4,128
OSXNRANE U FELE 103, 20021 22« 12 %43 826 0 826

SRNRXNEYS] U 23| FHA 3200821273 1,445 0 1,445
OZYRH U SUHRA 22 Yy
103, 20021 2 12 %43] 826 0 826

03 =22204H| 17,150 13,000 4,150
OMAER R &S 17,150 0 17,150
ol 13,150,000 13,150 0 13,150
oY= 4,000,000 4,000 0 4,000

203 R =X 9,200 9,200 0

03 AMETAREZY| 9,200 9,200 0
OQURQAEII|Y SRR HRFX 7,200,008 7,200 0 7,200
O2UIY ENRAVS YL 2,000,0002 2,000 0 2,000

HOMAR0F ANRAS P SREZ L 5,620 5,578 42

201 Lpr2 Y| 5,000 5,000 0

01 Ar2r2lt| 5,000 5,000 0
OSNRIELS M 5,000 0 5,000
oBEAN M 5,00024% 1,000 5,000 0 5,000

202 07l 620 578 42

01 2U0ib| 620 578 42
OSXRINE U HEHE 103, 2002 +25 « 12 %33 620 0 620

SN2 ENRF 2,378,674 1,636,017 742,657
ST SN Y2 L SAES 2,373,674 1,631,017 742,657

201 LBt Y| 7,500 10,000 £2,500

03 A2 7,500 10,000 A2,500
OMAENRXBE 4,500 0 4,500
SN 2,000,0002 2,000 0 2,000
SOMAIOIXI & (B2, 2 2) 2,500,0002 2,500 0 2,500
ORUERSIES 3,000 0 3,000
S ICCES & AR} 3,000,000% 13| 3,000 0 3,000

202 o1l 14,374 19,217 ~4,843

01 2UH0iH] 2,374 2,217 157
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A FR24

g A=EX FA

el 2UFE0F FAR (&el: )
= % o5 o HMEE -

SA -3 SAE) - MRAY - BES Off &K O] Ak ol Husz
O=UEXL 2 & RIS 103,200 x2H %53 1,032 0 1,032
OFX=xizs & FEF 103,200 1 %43 413 0 413
OFNFAELe & ¢4&a ¥4 103,200 12 43| 413 0 413
OSYREXN & SR 2I2 Y=

103,200 12 +53] 516 0 516

03 =AY RNl 12,000 17,000 A5,000
OAFEXNRI2S 12,000 0 12,000
o= 5,000, 000& 5,000 0 5,000
oOLAIOHRI & (E=, 82) 7,000,000& 7,000 0 7,000

203 SR F&H| 1,800 1,800 0
03 AMIB =PRI 1,800 1,800 0
O2=2g & usJi|a 2 HRFN 1,800,000 1,800 0 1,800

402 Q12tXt=01d 2,350,000 1,600,000 750,000
01 BIZtE22 X 2,350,000 1,600,000 750,000
OFE=IMA=stn M= 2,350,000,000& * 14! 2,350,000 0 2,350,000
SHUF20F AXNFXIE ?AS SNatB 200 5,000 5,000 0
201 LEr2HH| 5,000 5,000 0
01 AtR2teltl 5,000 5,000 0
OFNRIEEE HMA 5,000 0 5,000
oE=Z25&0 M 5,000& *1,000% 5,000 0 5,000
HE2H B 42,100 41,600 500
Jl=3dhl 39, 100 38,600 500
Jlz3Hl 39,100 38,600 500
201 LEr2 | 20,620 20,120 500
01 AtR2teltl 20,620 20,120 500
OEUH=¢ 6,380 0 6,380

S [UPSERSS 200,000 *3CH*3H 1,800 0 1,800
oZZEH 400,000 * 1CH =444 %204 3,200 0 3,200

oS A 400,000 = 1CH*3H 1,200 0 1,200

oA 180,000 »1CH=1H 180 0 180
ORAM2EIIE2+=EH] 4,000,000& 4,000 0 4,000
O=&tl 7,000&* 11 *10L =120 3 9,240 0 9,240
OtI2R=E 1,000,000& 1,000 0 1,000

202 O Hl 18,480 18,480 0
01 I LHAO I 18,480 18,480 0
OX& 2ol 20,000« 112 +72] 1204 & 18,480 0 18,480

el 2| 3,000 3,000 0
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